Quiz 6

September 16, 2016

Show all work and circle your final answer.
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1. Find all asymptotes (vertical and horizontal) of y = V2 .
J2-x4l R P O _,__——-‘x ok
HA&" ‘:(“—1300 x -\ W 8 \‘liﬂh:\'uo |- Yx T | ljz(i
: P A R P - T
l;'-“-y—,o X-1 /‘ft: - Em,o__{i-}lli “={2 3 {
VAS * x-1z0 when X=1 and 207-14140 s

9. Use the limit definition of the derivative to find f'(a) if f (z) =

3z
: I _.3a 3pth) 34
iy % v T i Bila)e bing. MW, L
P') = Uﬁ Y- h->0
y. g Ixlan) - *’1‘4[“\\ = lim Mﬂ
= lim —m——— o S W a4 (o)
%-7Q (i-aﬁ(ui‘.‘(u*l\ o 34
i e o e D
1 it - - W -
¥ -va Q) (xn)a+)) W0 W lax 1)(0* "3 e
ey - AR PRI }
i ] (at] "’ > s\\”.-‘,‘p Wlaih Yadt) (ﬁ*”z

LY e

3. Sketch a graph of the derivative of the function below.







